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i 2456 1,259 1,197 277 102 130 666 22
86 190 61 129 33 10 22 61 3
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88+ 445 178 267 51 12 31 170 3
89 382 199 183 40 19 17 104 3
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88+ 241 93 148 24 10 20 92 2
89 250 121 129 32 15 7 72 3
90 298 171 127 36 23 1 67 -
o1 350 169 181 54 14 1 108 4

[ 090 ]

B



%00 RIERE 4 AURTY) BB B A ()
—J}fIZ- —Fv]- PRI
9%
B =
i s Y b
3t A % 2 el B | diBEdE A
£ g1 %2 d EQ
i 100.0 51.3 48.7 11.3 4.2 5.3 27.1 0.9
86 100.0 32.1 67.9 17.4 5.3 11.6 321 1.6
87& 100.0 33.2 66.8 10.8 5.2 14.7 34.0 2.1
88+ 100.0 40.0 60.0 11.5 2.7 7.0 38.2 0.7
89 100.0 52.1 47.9 10.5 5.0 45 27.2 0.8
90+ 100.0 70.0 30.0 8.4 5.0 0.4 16.1 -
o1 100.0 62.4 37.6 12.4 3.0 0.2 21.3 0.9
£ "% £
i o 100.0 100.0 - - - - - i
o1 100.0 100.0 - - - - - -
£ g 3
i 100.0 63.9 36.1 8.8 1.6 5.2 20.0 0.4
86 100.0 39.3 60.7 31.1 1.6 8.2 19.7 -
87& 100.0 43.7 56.3 5.2 3.0 16.3 30.4 15
88+ 100.0 41.7 58.3 13.2 1.0 5.4 38.2 0.5
89 100.0 59.1 40.9 6.1 3.0 7.6 24.2 -
90+ 100.0 01.1 8.9 2.2 0.6 0.6 5.6 -
o1 100.0 84.3 15.7 7.6 1.3 - 6.3 0.4
£ e Ed
i 100.0 435 56.5 12.8 5.7 5.3 315 1.2
86 100.0 28.7 71.3 10.9 7.0 13.2 38.0 2.3
87& 100.0 27.7 72.3 13.8 6.3 13.8 36.0 2.4
88+ 100.0 38.6 61.4 10.0 4.1 8.3 38.2 0.8
89 100.0 48.4 51.6 12.8 6.0 2.8 28.8 1.2
90 100.0 57.4 426 12.1 7.7 0.3 225 -
o1 100.0 48.3 51.7 15.4 4.0 0.3 30.9 1.1
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